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General Knowledge / açWýç»S pûçX / açWýçÌ[ýS pûçX

1. Mark Zuckerberg is famous as -
]çEïõ LÇEõç»[ýçGï ×Eõc÷» [ýçã[ý ×[ýFîçTö ?
]çEïõ LÇEõçÌ[ý[ýçGï ×EõãaÌ[ý LXî ×[ýFîçTö ?

a) CEO of Facebook Inc. b) Man Booker Prize winner of 2010
åZõ$JËô[ýÇEõ» ]ÇFî Eõç^ïî[ýçc÷Ý ×[ýbÌ̂ ç 2010 $JôX» å]X [ýÇEõç» YÒç+L ×[ýãLTöç
åZõ»a[ýÇãEõÌ[ý ]ÇFî Eõç^ïî[ýçc÷Ý ×[ýbÌ̂ ç 2010 aãXÌ[ý å]X [ýÇEõçÌ[ý YÒç+L ×[ýãLTöç

c) The Best athelete in Guangzhou Asian Games d) The President of France
m¾çXåMõç A×$JôÌ^çX åG]$K÷» æ`Òœö åF_Çê¾ ZÐõç³a» »çrÑôY×Tö
m Ì̂ çXåMõì A×`Ì̂ çX åG]ãaÌ[ý æ`Òœö åFã_çÌ̂ çQÍö ZÐõçã³aÌ[ý Ì[ýçrÑôY×Tö

2. Which of the following classical singers hails from Assam ?
Tö_» åEõçX ̀ çØ—öÝÌ̂  aeGÝTö ×`”ÝLX ]É_Töf %a]» ?
XÝä»JôÌ[ý åEõçX  ̀ çØ—öÝÌ̂  a†ÝTö ×`”Ý ]É_Töf %çaçã]Ì[ý ?

a) Ustad Rashid Khan b) Parveen Sultana c) Ajoy Chakroborty d) Pulak Banerjee
CØ™öçV »`ŸÝV FçX Yç»¾ÝX JÇô_TöçXçø %LÌ̂  $JôyÔ¾TöÞ YÇ_Eõ å[ýXçLÞ
=Ø™öçV Ì[ý`ŸÝV Fgç YçÌ[ý\öÝX »aÇ_TöçXç %LÌ^ $JôyÔ[ýTöÞ YÇ_Eõ å[ýXçLÞ

3. Somdev Devvarman clinched the tennis men's doubles gold medal in the Asian Games, 2010 along with :
2010 $JôX» A×$JôÌ̂ çX åG]$K÷» YÇ»Ób» æOô×XJô Qöç[ý_$K÷Tö åaç]ãV[ý åV[ý[ý]ïãX Eõç» _GTö Ø‘öSï YVEõ» ×FTöçY %LÛX Eõ×»×$K÷_ ?
2010 aãXÌ[ý A×`Ì̂ çX åG]ãa YÇÌ[ýÓãbÌ[ý æOô×Xa Qöç[ý_ãa åaç]ãV[ý åV[ý[ý]ïX Eõçc÷çÌ[ý aã† Ø‘öXï YVEõ %LÛX EõãÌ[ý ?

a) Rohan Bapanna b) Uki Bhambri c) Leander Paes d) Sanam Singh
å»çc÷çX å[ýçYç~ç +=×Eõ \öç]×[ýÐ ×_ãÌ̂ ‰øç» åYL $JôX] ×ae
åÌ[ýçc÷çX å[ýçYç~ç +=×Eõ \öç][ýÐÝ ×_ãÌ^‰øçÌ[ý åYL aX] ×ae

4. ISRO failed to launch successfully which of the following on 25 Dec, 2010 :
2010 $JôX» 25 ×Qöä$Jô¶‘ö»Tö ISRO + ×Eõ =dålùYX Eõ×»[ýê_ [ýîUï c÷Ì̂ *
2010 aãXÌ[ý 25 ×Qöãa¶‘öãÌ[ý ISRO ×Eõ =dålùYãX [ýîUï c÷ãÌ^×»K÷_ ?
a) RISAT-2 b) GSLV-FO6 c) Chandrayaan -1 d) Oceansat - 2 (IRS-P4)

×»$K÷çOô-2 ×L. A$K÷. A_. ×\ö FO6 $Jô³VÐçÌ̂ X - 1 CäJôXãaOô - 2 (IRS-P4)
×Ì[ýaçOô-2 ×L. Aa. A_. ×\ö FO6 Jô³VÐçÌ̂ X - 1 CãaXäJôOô - 2 (IRS-P4)

5. India's oldest football club is -
\öç»Tö» YÒç$JôÝXTö] ZÇõOô[ý_ zõç[ý c÷'_ -
\öçÌ[ýãTöÌ[ý YÒç»JôÝXTö] ZÇõOô[ý_ zõç[ý c÷+_ -

a) Mohammedan Sporting club b) Salgaocar c) Mohun Bagan d) East Bengal
]c÷ã¶ö‚QöçX &×OôÛe zõç[ý $Jôç_GçCEõç»/ aç_GçCEõçÌ[ý å]çc÷X [ýçGçX +rô å[ý†_

AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2011
Class : VIII

Time / a]Ì̂  : 2 hours/ H³RôOç Full Marks/ ]ÇPö X=‘ö» / å]çOô X¶‘öÌ[ý f (25+25+25+25)=100
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6. The Supreme Court of India was known earlier as :

\öç»Tö» =¬Jô÷Tö] XîçÌ̂ ç_Ì̂ » YÉ[ýï» Xç] -
\öçÌ[ýãTöÌ[ý =¬JôTö] XîçÌ̂ ç_ãÌ̂ Ì[ý YÉã[ýïÌ[ý Xç] ×»K÷_ -
a) The Principal Court of India b) The Apex Court of India

×V ×YÒ×³aYç_ åEõçOôÛ %¾ +×‰øÌ̂ ç ×V AãYj åEõçOôÛ %¾ +×‰øÌ̂ ç
×V ×YÒ×³aYç_ åEõçOôÛ %[ý +×‰øÌ̂ ç ×V AãYj åEõçOôÛ %[ý +×‰øÌ̂ ç

c) The Federal Court of India d) The British Court of India
×V åZõQöçã»_ åEõçOôÛ %¾ +×‰øÌ̂ ç ×V [ýÊ×Oô$Jô åEõçOôÛ %¾ +×‰øÌ̂ ç
×V åZõQöçãÌ[ý_ åEõçOôÛ %[ý +×‰øÌ̂ ç ×V [ýÊ×Oô` åEõçOôÛ %[ý +×‰øÌ̂ ç

7. The first TV serial in Doordarshan was -
VÉ»V`ïX» YÒU] TV ×$Jô×»ãÌ̂ _ c÷'_ -
VÉÌ[ýV`ïãX YÒU] TV ×a×Ì[ýÌ̂ ç_ -
a) Nukkad b) Buniyad c) Humlog d) Ramayana

XÇhõQÍö [ýÇ×XÌ^çV c÷]ã_çG »ç]çÌ̂ S/ Ì[ýç]çÌ̂ S

8. Find the odd one :-
%×]_äOôç [ýç×$Jô =×_C¾ç -
%×]_×Oô å[ýä»K÷ XçC -
a) Ignited Minds b) India 2020 c) Goal d) Guiding Souls

åTöLØ‘öÝ]X +×‰øÌ̂ ç 2020 G'_ Gç+×Qöe $Jô'_ / Gç+×Qöe åaç_

9. Massive stars end their lives in an explosion called :
[ýÊc÷d Xlùy W[ýe`» ×[ýãØZõç»SEõ åEõç¾ç c÷Ì̂  -
[ýÊc÷d XlùäyÌ[ý W[ýeãaÌ[ý ×[ýãØö�õçÌ[ýSãEõ ×Eõ [ý_ç c÷Ì̂  ?
a) Supernova b) Big Bang c) Stellar collapse d) Blastic

$JÇôYç»X'\öç/ aÇYçÌ[ýãXç\öç ×[ýG å[ýe ærô_ç» Eõ_çYKË÷/ ærô_çÌ[ý Eõ_ç´a [ýÀç×rôEõ

10. The only organ in the human body which if partially  removed grows back to its original size -
]çX¾ ̀ »Ý»» åEõçX %† %çe×`Eõ\öçã[ý %çTö»ç+ ×Vã_C yÔ]çXŸãÌ̂  YÇ[ýï» %çEõç»  Wýç»S Eõã» ?
]çX[ý ̀ Ì[ýÝãÌ[ýÌ[ý  å^ %eG %çe×`Eõ\öçã[ý [ýçV ×Vã_ yÔ]çXŸãÌ̂  YÉã[ýïÌ[ý %çEõçÌ[ý WýçÌ[ýS EõãÌ[ý, åa+ %eG×Oô c÷+_ -
a) Kidney b) Lungs c) Liver d) Pancreas

[ýÊhõ c÷çCgZõçCg / ZÇõaZÇõa ^EÊõd %GÂç Ì̀̂

11. An imaginary memory supported by the operating system in conjunction with the secondary memory is -
ãGìS Øö‚Ê×Tö» aeã^çGTö %Yçã»×Oôe ×$K÷KË÷æOôã] a]UïX Eõ»ç Eõç”×XEõ Øö‚Ê×Tö×[ýWý c÷'_ ...............
åaãEõ‰øçÌ[ýÝ å]]×Ì[ýÌ[ý aeã^çãG %YçãÌ[ý×Oôe ×aaäOôã] a]UïX EõÌ[ýç Eõç”×XEõ Øö‚Ê×Tö×[ýWý c÷+_ ................
a) Cache Memory b) Primary Memory   c) Virtual Memory d) None of these

ãEõ¬JËô å]ã]ç×» YÒç+]ç»Ý å]ã]ç×» \öç»$JÇôã¾_ å]ã]ç×» A+ ×[ý_çEõ» AOôçC Xc÷Ì̂
åEõJËô ã]ã]ç×Ì[ý YÒç+]çÌ[ýÝ å]ã]ç×Ì[ý \öçÌ[ý»JÇôãÌ̂ _ å]ã]ç×Ì[ý AEõ×OôC XÌ^
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12. Which country's high-speed  train service is usually referred to as TGV ?
åEõçX åV`» VÐÓTöGç]Ý ã»_ åa¾çEõ açWýç»SãTö TGV [ýÇ×_ åEõç¾ç c÷Ì̂  ?
åEõçX åVã`Ì[ý VÐÓTöGç]Ý åÌ[ý_ãa[ýçãEõ açWýçÌ[ýXTö TGV [ý_ç c÷Ì̂  ?

a) Germany b) France c) China d) Russia
Lç]ïçXÝ ZÐõç³a $JôÝX »çK÷ÝÌ^ç/Ì[ýç×`Ì^ç

13. Artificial silk is also called :
EÊõ×Åy] å»$Jô]Eõ ..................C åEõç¾ç c÷Ì̂  -
EÊõ×Åy] åÌ[ý`]ãEõ ....................... [ý_ç c÷Ì̂  -

a) Rayon b) Dacron c) Fiber glass d) Nylon
å»Ì̂ X / åÌ[ýÌ^X åQöyÔS Zõç+[ýç» GÀç$K÷ / Zõç+[ýçÌ[ý GÀça Xç+_X

14. Fish can survive inside a frozen lake because -
[ý»Zõç[ýÊTö âÑ÷VTö ]ç$K÷ LÝÌ̂ ç+ Uç×Eõ[ý Yçã» ×EõÌ̂ ãXç -
[ýÌ[ýZõç[ýÊTö âÑ÷ãV ]ç»K÷ LÝ×[ýTö UçEõãTö YçãÌ[ý EõçÌ[ýS -

a) Fish are warm-blooded animals b) Fish hibernates in ice
]ç$K÷ =bÕ»NþÝ YÒçSÝ ]çä$K÷ [ý»ZõTö ̀ ÝTö×X³VÐç ̂ çÌ̂
]ç»K÷ =bÕÌ[ýNþÝ YÒçSÝ ]ç»K÷ [ýÌ[ýãZõ ̀ ÝTö×XVÐçÌ̂  ̂ çÌ̂

c) Water near the bottom does not freeze d) Ice is a good conductor of heat
Tö_» YçXÝ åGçOô Xç]çã» [ý»Zõ TöçY» aÇY×»[ýçc÷Ý
XÝä»JôÌ[ý L_ L]çOô [ýgçãWý Xç [ýÌ[ýZõ TöçãYÌ[ý aÇY×Ì[ý[ýçc÷Ý

15. What is the term of a member of Rajya Sabha ?
»çLî a\öç» aVaî ALX» Eõç^ïîEõç_ ×Eõ]çX [ý$K÷» ?
Ì[ýçLîa\öçÌ[ý AEõLX aVãaîÌ[ý Eõç^ïEõç_ EõTö [ý»K÷Ì[ý ?

a) 2 years b) 5 years c) 6 years d) None of the above
2 [ý$K÷»/[ý»K÷Ì[ý 5 [ý$K÷»/[ý»K÷Ì[ý 6 [ý$K÷»/[ý»K÷Ì[ý +Ì^ç» AOôçC Xc÷Ì^/ AEõ×OôC XÌ̂

16. Lake 'Hussain Sagar' is in -
"åc÷çä$K÷+X açG»' âÑ÷V Eõ'Tö %¾×ØšöTö -
"§ãa+X açGÌ[ý âÑ÷V' åEõçUçÌ̂  %[ý×ØšöTö -

a) Kashmir b) Andhra Pradesh c) Manipur d) Odisha
Eõç`½Ý»Tö %µÐù YÒãV`Tö ]×SYÇ»Tö =×QÍöbîçTö
Eõç`½ÝãÌ[ý %µÐù YÒãVã` ]×XYÇãÌ[ý =×QÍöbîçãTö

17. 'Soyabeen' is rich in ..............
$JôÌ̂ ç×[ýXTö %×WýEõ Y×»]çãS .............. %çä$K÷*
åaçÌ̂ ç×[ýãX %×WýEõ Y×Ì[ý]çãS .............. %çä»K÷*

a) Protein b) Vitamin c) Minerals d) Fats
YÒ'×OôX ×\öOôç×]X F×XL $Jô[ýÞ
æYÒç×OôX ×\öOôç×]X F×XL »Jô×[ýï
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18. Which of the following towns is the Capital of Dadra and Nagar  Haveli ?
Tö_» åEõçX XG» VçV»ç %ç»Ó XG» c÷çã\ö_Ý» »çLWýçXÝ ?
XÝä»JôÌ[ý åEõçX×Oô VçVÌ[ýç A[ýe XGÌ[ý c÷çã\ö_ÝÌ[ý Ì[ýçLWýçXÝ ?

a) Satara b) Silvasa c) Shimoga d) Sangli
$K÷çTöç»ç ×$Jô_\öç$K÷ç ×`ã]çGç $K÷çeG_Ý
agçTöçÌ[ýç ×a_\öçaç ×`ã]çGç açe_Ý

19. The news agency 'Reuter' is in -
""»Ì^Oôç»'' ×X=L AãL×³a åEõçX åV`Tö %¾×ØšöTö ?
"Ì[ýÌ̂ OôçÌ[ý' ×X=L AãL×³a åEõçX åVã` %[ý×ØšöTö ?

a) USA b) Britain c) China d) Italy
%çã]×»Eõç  ^ÇNþ»çrÑô [ýÊäOô+X $JôÝX +Oôç_Ý
%çã]×Ì[ýEõç ̂ ÇNþÌ[ýçrÑô [ýÊäOôX $JôÝX +Oôç_Ý

20. Bhavani can eat 8 mangoes in 2 days. Dharani can eat 6 mangoes in 3 days. In how many days can both eat 66
mangoes ?
\ö[ýçXÝãÌ̂   2 ×VXTö 8 Oôç %ç] Fç[ý Yçã»* Wý»XÝãÌ̂  3 ×VXTö 6 Oôç %ç] Fç[ý Yçã»* VÇãÌ̂ çãÌ̂  66 Oôç %ç] Fç[ýê_ ×Eõ]çX ×VX _ç×G[ý ?
\ö[ýçXÝ 2 ×VãX 8 Oôç %ç] ãFãTö YçãÌ[ý* WýÌ[ýXÝ 3 ×VãX 6 Oôç %ç] åFãTö YçãÌ[ý* VÇLãX ×]ã_ 66 Oôç %ç] åFãTö EõTö ×VX _çGã[ý ?

a) 12 b) 10 c) 11 d) 13

21. Ptyalin is an enzyme produced in the ...............
................... åÌ̂  OôçÌ̂ ç×_X Xç] =dåa$JôEõ =dY~ Eõã»*
................... OôçÌ̂ ç×_X Xç]Eõ =dåa»JôEõ =dY~ EõãÌ[ý*

a) Salivary glands b) Pituitary glands c) Thyroid glands d) Pancreas
_ç_×Oô GÐ×Üšö ×YOÇô+Oôç»Ý GÐ×Üšö Uç+»Qö GÐ×Üšö %GÂç Ì̀̂
_ç_×Oô GÐ×Üšö ×YOÇô+OôçÌ[ýÝ GÐ×Üšö Uç+Ì[ýãÌ̂ Qö GÐ×Üšö %GÂç Ì̀̂

22. The line demarcating the boundary between India and China is the -
\öç»Tö %ç»Ó $JôÝX» aÝ]ç YÊUEõ Eõ»ç å»Fç Qöç_ c÷'_ -
\öçÌ[ýTö A[ýe »JôÝãXÌ[ý aÝ]ç YÊUEõ EõÌ[ýç aÝ]çãÌ[ýFçÌ[ý Xç] -

a) Durand Line b) Radcliffe Line c) Mc Mohan Line d) Straford Line
QÇö»ç‰ø _ç+X å»Qö×zõZõ _ç+X å]Eõ å]çc÷X _ç+X rÑôçãZõçQïö _ç+X
QÇöÌ[ýç³Qö _ç+X åÌ[ýQö×zõZõ _ç+X å]Eõ å]çc÷X _ç+X rÑôçãZõçQïö _ç+X

23. The white Colour of our National flag signifies -
%ç]ç» »çrÑôÝÌ̂  YTöçEõç» [ýGç »ãIø ×Eõ aÇJôçÌ̂  -
LçTöÝÌ̂  YTöçEõçÌ[ý açVç Ì[ýãIøÌ[ý TöçdY^ïî c÷+_ -

a) Truth and Courage b) Truth and Peace c) Courage  and sacrifice d) Faith and chivalry
aTöî %ç»Ó açc÷a `ç×Ü™ö %ç»Ó aTöî açc÷a %ç»Ó TöîçG ×[ý`Ÿça %ç»Ó ×[ýXÌ^Ý
aTöî A[ýe açc÷a `ç×Ü™ö A[ýe aTöî açc÷a A[ýe TöîçG ×[ý Ÿ̀ça A[ýe ×[ýXÌ^Ý
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24. What is the full Form of AVSM ?

AVSM » YÉSï »ÖY ×Eõ ?
AVSM AÌ[ý YÉSï Ì[ýÖY ×Eõ ?

a) Ati Visist Seva Medal b) Ati Vishesh Seva Medal
%×Tö ×[ý×`rô åa¾ç å]ãQö_ %×Tö ×[ýã`b åa¾ç å]ãQö_

c) Ajivan Vishesh Seva Medal d) None of the above
%çLÝ¾X ×[ýã`b åa¾ç  å]ãQö_ CY»» AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

25. Who was the first actress in Indian Cinema ?
\öç»TöÝÌ̂  $Jô_×$Jôy» YÒU] Xç×Ì̂ Eõç åEõçX %ç×$K÷_ ?
\öçÌ[ýTöÝÌ̂  »Jô_×»JôäyÌ[ý YÒU] Xç×Ì̂ Eõç åEõ ×»K÷ã_X ?

a) Gita Dutta b) Devika Rani c) Madhubala d) Madhumala
GÝTöç Vwø åV[ýÝEõç »çSÝ/ åV[ýÝEõç Ì[ýçSÝ ]WýÇ[ýç_ç ]WýÇ]ç_ç

General English

Fill up the blanks with the most appropriate word. :
26 He gave  -----------------  at the sensational trial.

a) Witness b) evidence c) proof d) advice

27 Just  ---------------------  , he could complete the work to my satisfaction.

a) in a hour's time. b) in a hour c) in an hour's time d) in the time of an hour.

28 If I were a millionaire, I  ------------------- the poor.

a) would have helped b) could have helped c) would help d) will help

29 Mother always  ---------------------  with the maid servant.

a) finds fault b) finds faults c) find faults d) is finding fault

30 When I was sixteen, I   ----------------  the Engineering Entrance examination.
a) sat on b) sat in c) sat at d) sat for

31. No sooner  ----------------   the power went off.

a) he had returned home than b) did he return home than
c) had he returned home when d) when he returned then
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32. His conduct is bad and his honesty is not  …………….  Suspicion.

a) beyond b) under c) above d) out

33. In the fierce attack, the enemies were completely wiped  …………   .

a) off b) away c) over d) out

34. Dhoni   --------- another feather  -------- his cap  by his wonderful performance in the World Cup.

a) took, in b) created, for c) captured , from d) added , to

35. Since we  -------- read every book , we ---------- only the famous ones.

a) must , ignore b) have , sold c) should , buy d) cannot , select

36. The  --------  of glory lead but to the  -----------  .

a) paths , grave b) ways , happiness c) acts , prosperity d) achievements , suffering.

Pick out the part that can complete the sentence.
37. He passed the examination in the first class because he ……………. .

a) worked hardly for it b) was working hard for it. c)  had worked hard for it.   d)  was hard working for it.

38. Whichever way you approach the problem  ……………  .

a) it  will not solve. b) it can not solve  c) no one will solve it d) it will not be solved

The sentence given here in Active Voice will be changed to which of the following  in Passive Voice ?
39. 'Do you imitate others ?

a) Are others imitated by you ? b) Do others are imitated by you ?
c) Are you imitated by others ? d) Are others being imitated by you ?

Find out the correct Indirect Speech  form of the following sentence.
40 She said to him, " Why don't you go today ?"

a) She asked him why did not he go that day. b) She asked him why he did not go that day.
c) She enquired that why had not he gone that day . d) She enquired of him that  why had he not gone that day.

Choose the word nearest in meaning to the word underlined in italics
41. Some of the discoveries of modern science are simply marvellous.

a) praiseworthy b) commendable c) amazing d) admirable

42. The novel was so interesting  that I was oblivious of my surroundings.

a) indifferent b) unmindful c) watchful d) careful
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Choose the word that is opposite in meaning to the word underlined in italics
43. There was a marked deterioration in his condition.

a) improvement b) revision c) worsening d) abatement

44. He was in a dejected mood.

a) irritable b) romantic c) melancholic d) jubilant

Pick out the correct meaning of the idiom in bold letters.
45. He egged me on to join the protest march.

a) Told me to throw rotten eggs at the procession. b) Told me not to join.
c) Told me about the dangers of joining the march d) Instigated me to join the march.

46. Tendulkar's  midas touch helped India to win the World Cup.

a)  anger             b)  inspiring words            c)   a touch which turns anything in to gold. d)  good fielding

In each of the following questions five words are given, out of which four are same in one way and the fifth one is
different from others. Select the odd one.
47. a) silk                   b)  fur                c)    milk           d)  leather e) Rubber

48. a) ink                       b)  pen         c)   pencil           d)  brush e) chalk stick

49 . Look at this series: 14, 28, 20, 40, 32, 64, . . .
What number should come next?

a) 52 b) 56 c) 96 d) 128

50. Which word does NOT belong with the others?

a) mayor b) lawyer c) governor d) senator

General Mathematics / açWýç»S G×STö / açWýçÌ[ýS G×STö
51. Which of the following statements is false  ?

Tö_» åEõçXäOôç =×Nþ ×]$K÷ç ?
XÝä»JôÌ[ý åEõçX =×Nþ×Oô ×]Uîç ?

a) Every fraction is a rational number b) Every rational number is a fraction
YÒ×TöäOôç \öGÂçe`+ Y×»ã]Ì̂  aeFîç YÒ×TöäOôç Y×»ã]Ì̂  aeFîç+ \öGÂçe`
YÒ×Tö×Oô \öGÂçe`+ Y×Ì[ýã]Ì^ aeFîç YÒ×Tö×Oô Y×Ì[ýã]Ì̂  aeFîç+ \öGÂçe`

c) Every integer is a rational number d) All the above
YÒ×TöäOôç %F‰ø aeFîç+ Y×»ã]Ì̂  aeFîç %çOôç+ åEõ+Oôç
YÒ×Tö×Oô %F‰ø aeFîç+ Y×Ì[ýã]Ì̂  aeFîç a[ýEõÌ^Oôç
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52. When 75% of a number is added to 75 the result is the number again. The number is ..............

AOôç aeFîç» 75%» _GTö 75 å^çG Eõ×»ã_ å^çGZõ_ åa+ aeFîçäOôç c÷'Ì̂ , aeFîçäOôç c÷'_ ..................
AEõ×Oô aeFîçÌ[ý 75% AÌ[ý açãU 75 å^çG Eõ×Ì[ýã_ å^çGZõ_ åa+ aeFîç×Oô c÷Ì̂ , aeFîç×Oô c÷+_ .................

a) 150 b) 300 c) 100 d) 450

53. How much pure alcohol should be added to 400 ml of strength 15% to make its strength 32% ?
400 ×]f ×_f 15% æJôçEõ» A_Eõc÷_» _GTö  ×Eõ]çX ×[ý£ˆù A_Eõc÷_ ×]c÷×_ Eõ×»ã_ +Ì̂ ç» æJôçEõ 32% c÷[ý ?
400 ×].×_. 15% EõQÍöç A_Eõc÷ã_Ì[ý açãU EõTöOÇôEÇõ ×[ý£ˆù A_Eõc÷_ ×]`ç+ã_ +c÷ç 32% EõQÍöç c÷+ã[ý ?

a) 50 ml (×]f×_f) b) 75 ml (×]f×_f) c) 100 ml (×]f×_f) d) 150 ml (×]f×_f)

54. RSTU is a parallelogram as shown in the figure below. Then the shown angles x and y are related as .........
Tö_Tö ×VÌ̂ ç ×$JôyTö RSTU AOôç aç]Ü™ö×»Eõ* +Ì̂ çTö åVFÇC¾ç x %ç»Ó y åEõçS VÇOôç» ]çL» a¶‘öµù ...............
XÝä»Jô åVCÌ̂ ç ×»Jôäy RSTU  AEõ×Oô aç]Ü™ö×Ì[ýEõ* +c÷çãTö åVFçãXç x A[ýe y åEõçS VÇ×OôÌ[ý a¶‘öµù .........................

x0
y0S

R UR

T

a) x = y     b)    x < y c) x > y d) can not be determined from given data
=Nþ TöUî» Y»ç ×XSïÌ̂  Eõ»ç %a�ö¾ /=Nþ TöUî åUãEõ ×XSïÌ̂  EõÌ[ýç %a�ö[ý

55. If the lengths of two diagonals of a rhombus are 12 cm and 16 cm, then the length of each side of the rhombus is ........
AOôç »¶‘öç$Jô» EõSï VÇQöç_» VÝH 12 æ$K÷f ×]f %ç»Ó 16 æ$K÷f ×]f c÷ã_, »¶‘öç$Jô» YÒ×TöäOôç [ýç§» VÝH c÷'[ý ..............
AEõ×Oô Ì[ý¶‘öçãaÌ[ý EõSï VÇ+×OôÌ[ý éVHïî 12 åa.×]. A[ýe 16 åa. ×]. c÷+ã_ Ì[ý¶‘öçãaÌ[ý YÒ×Tö×Oô [ýç§Ì[ý éVHïî c÷+ã[ý -

a) 10 cm b) 14 cm c) cannot be determined d) none of these
10 æ$K÷f×]f 14 æ$K÷f×]f ×XSïÌ̂  Eõ×»[ý åXç¾ç×» AOôçC Xc÷Ì^
10 åa.×]. 14 åa.×]. ×XXïÌ̂  EõÌ[ýç ̂ çã[ý Xç AEõ×OôC XÌ^

56. In the given diagram, find the value of x.
YÒVwø ×$Jôy» Y»ç x » ]çX ×XSïÌ̂  Eõ»ç*
YÒVwø ×»JôäyÌ[ý x AÌ[ý ]çX ×XSïÌ̂  EõÌ[ý*

) )

)

)

D

C

A

B

500

400

700

400 X

a) 600 b) 800 c)     1600 d) 1800

57. The value of  (-1)  x (-1)  is ..............

(-1)  x (-1)  » ]çX ..............
(-1)  x (-1)  AÌ[ý ]çX ................

a) -1                             b) +1                              c) +1                            d) none of these AOôçC Xc÷Ì^ /AEõ×OôC XÌ^
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58. -2,7443 ÷ 0.0083  = .................

a) 70 b) -70 c) 14 d) -14

59. The difference in SI and CI on a certain sum of money in 2 years at 15% p.a. is  Rs. 144. Sum is .............
åEõçãXç ×X×VÛrô ]É_WýX» 15% c÷çã» 2 [ý$K÷»» a»_ aÇTö %ç»Ó ×]`Ò aÇTö» YçUïEõî 144 OôEõç c÷ã_ ]É_WýX» Y×»]çX ...................
åEõçãXç ×X×�Ûrô ]É_WýãXÌ[ý 15% c÷çãÌ[ý 2 [ý»K÷ãÌ[ýÌ[ý aÌ[ý_ A[ýe ×]`Ò aÇãVÌ[ý YçUïEõî 144 OôçEõç c÷+ã_ ]É_WýãXÌ[ý  Y×Ì[ý]çX ....................

a) Rs. 6,000 b) Rs. 6,200 c) Rs. 6,300 d) Rs. 6,400

60. If SP of an article is 4
3

 of its CP then the  profit in the transaction is ..............

AOôç [ýºwø» ×[ýyÔÝ ]É_î +Ì̂ ç» =dYçVX ]É_î» 4
3

 %e` c÷ã_ [ýºwøäOôç» å_XãVXTö _ç\ö c÷'[ý ..............

AEõ×Oô [ýºwøÌ[ý ×[ýyÔÌ̂  ]É_î +c÷çÌ[ý yÔÌ̂  ]Éã_îÌ[ý 4
3

 %e` c÷+ã_, +c÷çÌ[ý _ç\ö c÷+ã[ý ..................*

a) 1
3

% b) 20 1
2

% c) 33 1
3

% d) 25 1
2

 %

61. The product of x2y and x
y is equal to the quotient obtained when x2 is divided by ............

x2 Eõ ................. å» c÷»S Eõ×»ã_ \öçGZõ_ x2y %ç»Ó x
y  » YÉ»SZõ_» a]çX c÷Ì̂ *

x2 åEõ .................. ¥çÌ[ýç \öçG Eõ×Ì[ýã_ \öçGZõ_ x2y A[ýe x
y  AÌ[ý mXZõã_Ì[ý a]çX c÷Ì̂ *

a) 0 b) 1 c) x d) 1
x

62. If (^×V) x2+ 1
x2 = 79 then (åTöãÜ™ö / Töã[ý)   x+ 

1
x  = ..........

a) 75 b) 9 c) 79 d) None of these
AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

63. The shape of the following figure is ..............
Tö_Tö ×VÌ̂ ç ×$JôyäOôç ................. %çEÊõ×Tö»*
XÝä»Jô åVCÌ̂ ç ×»Jôy×Oô .................. %çEÊõ×TöÌ[ý

a) Circle b) Cone c) Cylinder d) Cuboid
[ýÊwø `áÇø ×$Jô×_‰øç» / ×$a×_‰øç Ì[ý %çÌ̂ TöÝÌ̂  HXEõ
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64. The area of an isosceles triangle having base x cm and one side y cm is .............
AOôç a]×¥[ýç§ ×Åy\ÇöL» \Éö×] x ä$K÷f×]f %ç»Ó AOôç [ýç§» ]çY y æ$K÷f ×]f c÷ã_ ×Åy\ÇöLäOôç» Eõç×_ .................
AEõ×Oô a]×¥[ýç§ ×Åy\ÇöãLÌ[ý \Éö×] x åa. ×]. A[ýe AEõ×Oô [ýç§Ì[ý ]çY y åa. ×]. c÷+ã_ ×Åy\ÇöL×OôÌ[ý Eõç×_ ................

a)   X
2

Y  +2 X
4

2
 cm2 / [ýGï æ$K÷f ×]f/ [ýGï åa.×]. b) X

2
4Y  - x  

4

2 2
cm2 / [ýGï æ$K÷f ×]f/ [ýGï åa. ×].

c)  x  - y  
4

2 2
 cm2 / [ýGï æ$K÷f×]f/ [ýGï åa. ×]. d) None of these /AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

65. Simplified form of 3 x y .4

4 x y2 8  is ...........

3 x y .4

4 x y2 8  » a»_çEÊõTö ]çX (AÌ[ý aÌ[ý_çEÊõTö ]çX) ....................

a) x5 y10 b)
Y

X

10

5 c)
Y

X

2

d)
x
y

5
5

66. A fort had provision of food for 150 men for 45 days. After 10 days, 25 men left the fort, The  number of days for which
the remaining food will last, is ..............
AOôç VÇGïTö 150 LX ]çXÇc÷» [ýçã[ý 45 ×VX» FçVî %ç×$K÷_* 10 ×VX» Yç$K÷Tö 25 LX ]çXÇc÷ VÇGï» Y»ç m×$Jô Gã_ [ýçEõÝ UEõç FçVîã» .......... ×VX ̂ ç[ý*
AEõ×Oô VÇãGï 150 LX ]çXÇãbÌ[ý LXî 45 ×VãXÌ[ý FçVî ×»K÷_* 10 ×VX YÌ[ý 25 LX ]çXÇb VÇGï c÷+ãTö »Jô×_Ì̂ ç åGã_ [ýçEõÝ FçãVî ................. ×VX ̂ ç+ã[ý*

a) 29 b) 37 c) 42 d) 54

67 Factors of (4a-3b)3 - (3a-b)3 - (a-2b)3 are ..........
(4a-3b)3 - (3a-b)3 - (a-2b)3 » =dYçVEõ ....................
(4a-3b)3 - (3a-b)3 - (a-2b)3 AÌ[ý =dYçVEõ .................

a) 3(4a-3b)(b-3a)(2b-a) b) 3(a-b)(b-c)(c-a) c) (a-b)2 (c-a)        d)  None of these (AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂ )

68. Which of the following number is divisible by 11 ?
Tö_» åEõçXäOôç aeFîç 11 å» ×[ý\öçLî ?
XÝä»JôÌ[ý åEõçX aeFîç×Oô 11 ¥çÌ[ýç ×[ý\öçLî ?

a) 3,116,365 b) 9,01,351 c) 8,790,322          d)  None of these (AOôçC Xc÷Ì̂ /AEõ×OôC XÌ̂ )

69. If (^×V)   = 0.4x0.04x B   b   then (åTö×TöÌ̂ ç/ Töã[ý)    = ...........

a) 0.016 b) 1.60 c) 0.16 d) None of these
AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

70. If the ratio of areas of two circles is 16:25 then the ratio of their circumference is ............
VÇOôç [ýÊwø» Eõç×_» %XÇYçTö 16:25 c÷ã_ [ýÊwø VÇOôç» Y×»×Wý» %XÇYçTö c÷'[ý ...................
VÇ+×Oô [ýÊãwøÌ[ý Eõç×_Ì[ý %XÇYçTö 16:25 c÷+ã_ [ýÊwø VÇ+×OôÌ[ý Y×Ì[ý×WýÌ[ý %XÇYçTö c÷+ã[ý ....................

a) 25:16 b) 5:4 c) 4:5 d) 3:5
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71. The value of the product (3+5
x

) (9-15
x

+
25

x2 ) at x = 1 is ................

x » ]çX 1 c÷ã_ (3+5
x
)(9-15

x
+

25

x2 ) » ]çX ....................
x AÌ[ý ]çX 1 c÷+ã_ (3+5

x
)(9-15

x
+

25

x2 ) AÌ[ý ]çX ....................

a) 150 b) 148 c) 152 d) None of these
(AOôçC Xc÷Ì^/AEõ×OôC XÌ̂ )

72. If -3
x

 = X
27

, then the value of 'x' is .............

^×V -3
x

 = X
27

 c÷Ì̂  åTöãÜ™ö x » ]çX ..................

^×V -3
x

 = X
27

 c÷Ì̂ , Töã[ý x AÌ[ý ]çX ..................

a) a rational number b) not a rational number c) an integer d) a natural number
AOôç Y×»ã]Ì̂  aeFîç AOôç Y×»ã]Ì̂  aeFîç Xc÷Ì̂ AOôç %F‰ø aeFîç AOôç Ø‘öç\öç×¾Eõ aeFîç
AEõ×Oô Y×Ì[ýã]Ì̂  aeFîç AEõ×Oô Y×Ì[ýã]Ì^ aeFîç XÌ̂ AEõ×Oô %F‰ø aeFîç AEõ×Oô Ø‘öç\öç×¾Eõ aeFîç

73. If (^×V) (x2+3x+5) (x2-3x+5) = m2 - n2, then (åTöãÜ™ö/Töã[ý)  m = ..............

a) x2-3x b) 3x c) x2+5 d) None of these
AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

74. Which of the following is not a linear equation ?
Tö_» åEõçXäOôç é»×FEõ a]ÝEõ»S Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×Oô éÌ[ý×FEõ a]ÝEõÌ[ýX XÌ̂  ?

a) 4x+1 = x b)  y+y = 4 c) - pq+5= - 3 d) None of these
AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

75. Which of the following statements is true ?
Tö_» åEõçXäOôç =×Nþ aTöî ?
XÝä»JôÌ[ý åEõçX =×Nþ×Oô aTöî ?

a) Cubes of all even natural numbers  are  even b) Cubes of all odd natural numbers are odd
aEõã_ç ̂ ÇG½ Ø‘öç\öç×¾Eõ aeFîç» HX AOôç ̂ ÇG½ aeFîç aEõã_ç %^ÇG½ Ø‘öç\öç×¾Eõ aeFîç» HX AOôç %^ÇG½ aeFîç
aEõ_ ̂ ÇG½ Ø‘öç\öç×[ýEõ aeFîçÌ[ý HX AEõ×Oô ̂ ÇG½ aeFîç aEõ_ % Ç̂G½ Ø‘öç\öç×[ýEõ aeFîçÌ[ý HX AEõ×Oô %^ÇG½ aeFîç

c) Cubes of negative integers are negative. d) All the  above
@Sç±ÁEõ %F‰ø aeFîç» HX @Sç±ÁEõ %çOôç+ åEõ+Oôç*
@Sç±ÁEõ %F‰ø aeFîçÌ[ý HX @Sç±ÁEõ a[ýEõÌ^×Oô
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General Science / açWýç»S ×[ýpûçX / açWýçÌ[ýS ×[ýpûçX

76. Which of the following always produces a virtual image ?
Tö_» åEõçXäOôçã¾ aVçÌ̂  %ad YÒ×Tö×[ý¶‘ö GPöX Eõã» ?
XÝä»JôÌ[ý åEõçX×Oô a[ýïVç %ad YÒ×Tö×[ý¶‘ö GPöX EõãÌ[ý ?

a) Plane mirror b) Concave mirror c) Convex lens d) Convex mirror
a]Tö_ VçãYçS %¾Tö_ VçãYçS =wø_ å_³a =wø_ VçãYçS
a]Tö_ VYïS %[ýTö_ VYïS =wø_ å_³a =wø_ VYïS

77. The refractive index is minimum for ......... colour.
................. »Iø» YÒ×Töa»SçeEõ XÇXîTö]*
................ Ì[ýãIøÌ[ý YÒ×TöaÌ[ýXçáø XÉXîTö]*

a) red b) violet c) green d) yellow
»Iøç å[ýIÇøSÝÌ^ç åa=LÝÌ̂ ç c÷ç_WýÝÌ̂ ç
_ç_ å[ýmXÝ a[ýÇL c÷_ÇV

78. No current flows between two charged bodies if they have same ...................
AãEõ .............. » VÇOôç %ç×c÷Tö [ýºwø» ]çãL×V ×[ýVÇîd YÒ[ýç×c÷Tö Xc÷Ì̂ *
AEõ+ ............. VÇ+×Oô %ç×c÷Tö [ýºwøÌ[ý ]Wýî ×VÌ̂ ç ×[ýVÇîd YÒ[ýç×c÷Tö c÷Ì̂  Xç*

a) Capacity b) Potential c) Charge c) None
lù]Töç ×[ý\ö¾ %çWýçX AOôçC Xc÷Ì^
lù]TöçÌ[ý ×[ý\öã[ýÌ[ý %çWýçãXÌ[ý AEõ×OôC XÌ^

79. When main switch of the house circuit is put off it disconnects the .............
H»» [ýTöÛXÝ» å]+X $JÇô+$JËôäOôç [ýµù Eõ×»ã_ .............. Eõ ×[ý×¬K÷~ Eõã»*
HãÌ[ýÌ[ý [ýTöÛXÝÌ[ý å]+X aÇ+»Jô×Oô [ýµù Eõ×Ì[ýã_ .............. åEõ ×[ý×¬K÷~ EõÌ[ýç c÷Ì̂ *

a) Live wire b) Neutral Wire. c) Earth Wire d) Live and Neutral Wires.
a×yÔÌ̂  Tgöç» =VçaÝX Tgöç» ]ç×Oô» _GTö ae_GÂ Töç» a×yÔÌ̂  %ç»Ó =VçaÝX Tgöç»
a×yÔÌ̂  TöçÌ[ý =VçaÝX TöçÌ[ý ]ç×OôÌ[ý açãU ae_GÂ TöçÌ[ý a×yÔÌ̂   A[ýe =VçaÝX TöçÌ[ý

80. The atmospheric pressure is due to the ..............
[ýçÌ̂ Ç]‰ø_ÝÌ̂  $JôçY .................. » [ýçã[ý c÷Ì̂ *
[ýçÌ̂ Ç]³Qö_ÝÌ̂  »JôçY ................ LXî c÷Ì̂ *

a) Sky above our head b) Air mass surrounding earth
%çEõç`» [ýçã[ý YÊ×U¾Ý» æ$JôìYçã` UEõç [ýçÌ̂ Ç» \ö»
%çEõçã Ì̀[ý LXî YÊ×U[ýÝÌ[ý »Jôç×Ì[ýYçã` UçEõç [ýçÌ̂ ÇÌ[ý \öãÌ[ýÌ[ý

c) Gravitational force of sun and other planets. d) Mass of the earths
aÉ̂ ïî %ç»Ó %Xî GÐc÷» ]çWýîçEõbï×SEõ [ý_» [ýçã[ý YÊ×U¾Ý» \ö»» [ýçã[ý
aÉ̂ ïî A[ýe %Xî GÐãc÷Ì[ý ]çWýîçEõbï×SEõ [ýã_Ì[ý YÊ×U[ýÝÌ[ý \öãÌ[ýÌ[ý LXî
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81. While walking on ice, one should take small steps to avoid slipping. This is because smaller steps ensure .............

[ý»ZõTö åFçL EõçäRÍôçãTö ×Y$K÷×_ XY×»[ýê_ åFçLã[ýç» $JÇô×OôêEõ ×V[ý _çãG* Eõç»S åFçL $JÇô×Oô c÷ã_ ...................... c÷Ì̂ *
[ýÌ[ýãZõ ×Y»K÷ã_ Xç YäQÍö ̂ çCÌ̂ çÌ[ý LXî YVãlùY a[ýïVç aç[ýWýçãX ×VãTö c÷Ì̂ * EõçÌ[ýS YVãlùY aç[ýWýçãX c÷+ã_ ................. c÷Ì̂ *

a) Larger friction b) Smaller friction c) Larger normal force d) Smaller normal force
HbïS å[ý×$K÷ HbïS Eõ] =_¶‘ö [ý_ å[ý×$K÷ =_¶‘ö [ý_ Eõ]
HbïS å[ý`Ý HbïS Eõ] =_¶‘ö [ý_ å[ý`Ý =_¶‘ö [ý_ Eõ]

82. The chemical reaction due to passage of electric current depends on ...........
×[ýVÇîd YÒ[ýçc÷» Zõ_Tö åc÷ç¾ç »çaçÌ̂ ×XEõ ×[ý×yÔÌ̂ ç ................. » CY»Tö ×X\öÛ» Eõã»*
×[ýVÇîd YÒ[ýçãc÷Ì[ý Zõã_ c÷CÌ̂ ç Ì[ýçaçÌ̂ ×XEõ ×[ý×yÔÌ̂ ç ............... =YÌ[ý ×X\öÛÌ[ý EõãÌ[ý*

a) Electrodes b) Magnitude of current c) density of liquid d) All of the above.
+ã_Eõ®Ïô'Qö YÒ[ýçc÷» ]çX Tö»_» HX±¼ö CY»» %çOôç+ãEõ+Oôç
+ã_Eõ®ÏôQöãaÌ[ý YÒ[ýçãc÷Ì[ý ]çãXÌ[ý TöÌ[ýã_Ì[ý HXã±¼öÌ[ý a[ýEõÌ^×OôÌ[ý

83. Electric charge is measured in ...............
é[ýVÇî×TöEõ %çWýçX» AEõEõ .............. *
é[ýVÇî×TöEõ %çWýçãXÌ[ý ]çãYÌ[ý AEõEõ ..............*

a) Coulombs b) Amperes c) Volts d) Watts
EÇõ_¶‘ö A×¶YÌ^ç»/ A×¶YÌ^çÌ[ý \ö·Oô ¾çOô/ CÌ̂ çOô

84. The E.N.T. doctor uses a ............
E.N.T. Qökôã» .............. [ýî¾c÷ç» Eõã»*
AEõLX E.N.T. QöçNþçÌ[ý ........... [ýî[ýc÷çÌ[ý EõãÌ[ýX*

a) Convex mirror b) Convex lens. c) Plane mirror d) Concave mirror
=wø_ VçãYçS =wø_ å_³a a]Tö_ VçãYçS %¾Tö_ VçãYçS
=wø_ VYïX =wø_ å_³a a]Tö_ VYïX %[ýTö_ VYïX

85. Which of the following statements is not true ?
Tö_» åEõçXäOôç =×Nþ £ˆù Xc÷Ì̂ *
XÝä»JôÌ[ý åEõçX =×Nþ×Oô £ˆù XÌ̂  ?

a) Polymer occurs in nature b) Cellulose is made up of glucose units
[ý§ã^çGÝ å^ìG YÒEÊõ×TöTö åYç¾ç ̂ çÌ̂ æ$Jô_Çã_çL GÀÇEõLã» G×PöTö
[ý§ã^çGÝ å^ìG YÒEÊõ×TöãTö YçCÌ̂ ç ̂ çÌ̂ åa_Çã_çL GÀÇãEõçL ¥çÌ[ýç G×PöãTö

c) Nylon is used to make parachute d) Cotton thread is stronger than nylon thread
åY»ç$JÇôOô éTöÌ̂ ç» Eõ×»[ýê_ Xç+_X [ýî¾c÷ç» Eõ»ç c÷Ì̂ EõYçc÷Ý agÇTöç Xç+_X aÉTöçTöêEõ OôçX
åYÌ[ýçaÇOô éTöÌ̂ çÌ[ý Eõ×Ì[ýãTö Xç+_X [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂ EõçYçãaÌ[ý aÇTöç Xç+_ãXÌ[ý aÇTöçÌ[ý »Jôç+ãTö ]L[ýÇTö

86. Which of the following  is not a heavy metal ?
Tö_» åEõçXäOôç GWýÇ» WýçTÇö Xc÷Ì̂ *
XÝä»JôÌ[ý åEõçX×Oô mÌ[ýÓ WýçTÇö XÌ̂  ?
a) Cu b) Hg c) Pb d) K
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87. Zn+C  Zn+CO, 2Fe2O+3C  4Fe+2CO2

In the above reactions .............
CY»» ×[ý×yÔÌ̂ çäOôçTö -
=YãÌ[ýÌ[ý ×[ý×yÔÌ̂ ç×OôãTö -

a) Carbon is reduced b) Carbon is oxidised
Eõç[ýïX ×[ýLç×»Tö éc÷ä$K÷ Eõç[ýïX Lç×»Tö éc÷ä$K÷
Eõç[ýïX ×[ýLç×Ì[ýTö c÷+Ì̂ çä»K÷ Eõç[ýïX Lç×Ì[ýTö c÷+Ì̂ çä»K÷

c) Metal oxide is reduced to metal d) Metal oxide is oxidised
WýçTÇö» %jç+Qö WýçTÇöê_ ×[ýLç×»Tö éc÷ä$K÷ WýçTÇö» %jç+Qö Lç×»Tö éc÷ä$K÷
WýçTÇöÌ[ý %jç+Qö WýçTÇöãTö ×[ýLç×Ì[ýTö c÷+Ì̂ çä»K÷ WýçTÇöÌ[ý %jç+Qö Lç×Ì[ýTö c÷+Ì̂ çä»K÷

88. 2C + O2 + 4N2   .................

a) 2 CO+2N2 b) CO+H2 c) CO + CH4 d) CO + NO2

89. Which of the following is most harmful for human body ?
Tö_» åEõçXäOôç ]çX¾ åVc÷» [ýçã[ý %çOôç+TöêEõ %YEõç»Ý ?
XÝä»JôÌ[ý åEõçX×Oô ]çX[ýãVãc÷Ì[ý LXî a[ý»Jôç+ãTö %YEõçÌ[ýÝ ?

a) CO b) CO2 c) Oxides of nitrogen d) Lead compounds
Xç+®ÏôãLX» %jç+Qö aÝc÷» å^ìGã[ýç»
Xç+®ÏôãLãXÌ[ý %jç+Qö aÝaçÌ[ý å^ìGm×_

90. Incomplete combustion of a fuel gives ...........
+µùX» %a¶YÉSï Vc÷XTö ............. =dY~ c÷Ì̂ *
+µùãXÌ[ý %a¶YÉSï Vc÷ãX ............... =dY~ c÷Ì̂ *

a) CO b) CO2 c) SO2 d) Oxides of Nitrogen
Xç+®Ïô'åLX» %jç+Qö
Xç+®ÏôãLãXÌ[ý %jç+Qö

91. Which of the following dissolves more rapidly in blood haemoglobin than oxygen ?
Tö_» åEõçX×[ýWý åTöL» ×c÷]'GÀ×[ýXTö %×jãLXTöêEõ F»TöEõÝÌ̂ çêEõ VÐ¾Ý\ÉöTö c÷Ì̂  .................*
XÝä»JôÌ[ý åEõçX×Oô Ì[ýãNþÌ[ý ×c÷]GÀ×[ýãX %×jãLX åUãEõ TöçQÍöçTöç×QÍö VÐ[ýÝ\ÉöTö c÷Ì̂  ?

a) Ozone b) Nitrous oxide c) Sulphur dioxide d) Carbon monoxide
%'LX Xç+®Ïôç$K÷ %jç+Qö $K÷ç_Zõç» Qöç+ %jç+Qö Eõç[ýïX ]X'jç+Qö
%LX Xç+®Ïôça %jç+Qö aç_ZõçÌ[ý Qöç+ %jç+Qö Eõç[ýïX-]X'jç+Qö

92. Gundhi bug is a small insect that attacks .............
GçµùÝ åYçãEõ ........... Eõ %çyÔ]S Eõã»*
GçµùÝ åYçEõç .............. åEõ %çyÔ]X EõãÌ[ý*

a) Wheat b) Millet c) Paddy d) Cotton
åHg§ / G] [ýç×_ï WýçX EõYçc÷ / EõçYïça
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93. Cell membrane is composed of ..............
åEõçbç¾»S ................ » ¥ç»ç G×PöTö*
åEõçbç[ýÌ[ýS ............... ¥çÌ[ýç G×PöTö*

a) Lipid and starch b) Lipids and proteins c) Lipids and sugars d) Sugars and proteins
åØoöc÷ YVçUï %ç»Ó å`ŸTöaç» åØoöc÷ YVçUï %ç»Ó YÒ'×OôX ×_×YQö %ç»Ó ̀ Eïõ»ç `Eïõ»ç %ç»Ó YÒ×OôX
åØoöc÷ YVçUï A[ýe å`ŸTöaçÌ[ý åØoöc÷ YVçUï A[ýe æYÒç×OôX ×_×YQö A[ýe ̀ EïõÌ[ýç `EïõÌ[ýç A[ýe æYÒç×OôX

94. Bacteria living in the intestines of herbivorous animals help in the digestion of .............
TÊöSã\öçLÝ YÒçSÝ» lÇùVÐçÜ—öTö UEõç å[ýEõäOô×»Ì̂ ç+ ............... » Yç$JôXTö ac÷çÌ̂  Eõã»*
TÊöSã\öçLÝ YÒçSÝÌ[ý lÇùVÐçÜ—öãTö UçEõç å[ýEõäOô×Ì[ýÌ̂ ç ............ c÷Lã] açc÷ç^î EõãÌ[ý*

a) Cellulose b) Proteins c) Fats d) Vitamins
æ$Jô_Ç_'L YÒ'×OôX $Jô×[ýï ×\öOôç×]X
åa_Ç_ãLÌ[ý æYÒç×OôãXÌ[ý »Jô×[ýïÌ[ý ×\öOôç×]ãXÌ[ý

95. Wildlife protection Act was passed in the year ............
[ýXî YÒçSÝ aÇ»lùç %ç+X ............... $JôXTö GÊc÷ÝTö éc÷×$K÷_*
[ýXîYÒçXÝ aÇÌ[ýlùç %ç+X ............. aãX GÊc÷ÝTö c÷Ì̂ *

a) 1972 b) 1970 c) 1982 d) 1990

96. Internal fertilization occurs in ............
............. %ç×V» ålùyTö %ç\öîÜ™ö»ÝS ×Xãb$JôX c÷Ì̂ *
............. +c÷çãVÌ[ý ålùäy %ç\öîÜ™öÌ[ýÝX ×Xãb»»JôX c÷Ì̂ *

a) Bird, fish b) Reptile, frog c) Mammal, frog d) Reptile,  Mammal
$Jô»ç+, ]ç$K÷ a»ÝaÊY, å\öEÇõ_Ý Ø™öXîYçÌ̂ Ý, å\öEÇõ_Ý a»ÝaÊY, Ø™öXîYçÌ^Ý
YçFÝ, ]ç»K÷ aÌ[ýÝaÊY, [ýîçIø Ø™öXîYçÌ̂ Ý, [ýîçIø aÌ[ýÝaÊY, Ø™öXîYçÌ^Ý

97. Non-living part of the  plant cell is ............
=×àöV åEõçbTö UEõç ×XLÞ¾ %e`äOôç c÷'_ .................*
=×àöVãEõçãb UçEõç ×XLÞ[ý %e` c÷+_ .......................*

a) Nucleus b) Protoplasm c) Mitochondrion d) Cell wall
åEõçbãEõ³VÐ YÒOô'YÀçL] ]ç+Oô'Eõ×³QÎöÌ^ç åEõçbã[ý»
åEõçbãEõ³VÐ æYÒçOôYÀçL] ]ç+Oô-Eõ×³VÐÌ^ç åEõçbãVCÌ^ç_

98. Which of the following groups represent the bacterial diseases ?
Tö_» åEõçXäOôç \öçãG å[ýãkô»ÝÌ̂ ç L×XTö å»çGEõ [ýÇLçÌ̂  ?
XÝä»JôÌ[ý åEõçX×Oô \öçG å[ýãkô×Ì[ýÌ̂ ç L×XTö åÌ[ýçGãEõ [ýÇMõçÌ̂  ?

a) Cholera, tuberculosis, malaria, measles b) Small pox, tuberculosis, malaria,typhoid
Eõã_»ç, ̂ ©¿ç, å]ã_»ÝÌÌ̂ ç, ]çLÇ %ç+ a»Ó %ç+, ̂ ©¿ç, å]ã_»ÝÌ̂ ç, Oôç+ZõãÌ̂ Qö
Eõã_Ì[ýç, ̂ ©¿ç, å]ã_×Ì[ýÌ̂ ç, c÷ç] Yj, ̂ ©¿ç, å]ã_×Ì[ýÌ̂ ç, Oôç+ZõãÌ̂ Qö

c) Cholera, tuberculosis, typhoid, measles d) Cholera, anthrax, tuberculosis, typhoid
Eõã_»ç, ̂ ©¿ç, Oôç+ZõãÌ̂ Qö, a»Ó %ç+ Eõã_»ç,  AXUÐçj, ̂ ©¿ç, Oôç+ZõãÌ̂ Qö
Eõã_Ì[ýç, ̂ ©¿ç, Oôç+ZõãÌ̂ Qö, c÷ç] Eõã_Ì[ýç, AXUÐçj, ̂ ©¿ç, Oôç+ZõãÌ̂ Qö
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99. Energy currency of the cell is ..........
............. Eõ åEõçb» ̀ ×Nþ» ]É_ =da ×c÷$JôçãY LXç ̂ çÌ̂ *
.............. åEõ åEõçãbÌ[ý ̀ ×NþÌ[ý ]É_ =da ×c÷açã[ý LçXç ̂ çÌ̂ *

a) ADP b) FTP c) ATP                     d) All of these
%çOôç+ãEõ+Oôç / a[ý EõÌ̂ Oôç

100.Velocity of light is maximum in ...........
................. Tö åYçc÷»» å[ýG %çOôç+TöêEõ å[ý×$K÷*
................. %çã_çÌ[ý å[ýG a[ý»Jôç+ãTö å[ý`Ý*

a) Diamond b) Water c) Glass d) Vacuum
c÷Ý»ç YçXÝ Egõç$Jô [ýçÌ Ç̂`ÉXî
c÷ÝÌ[ýçãTö Lã_ Egõçä»Jô [ýçÌ Ç̂̀ ÉãXî

XXX THE END XXX
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